The Exam Data


https://drive.google.com/file/d/16oYQMjKgFsWSGkT9M54vCdR78GiOq6Y9/view?usp=sharing

Suppose we have 10 balls numbered from 1 to 10, and that we want to draw 5 balls together and randomly, then return them,
and draw another five balls again and repeat this procedure in 100 times. The MATLAB code which does the above operation is:

O for i = 1:100
randperm(10)*5
end
() randperm(10@) * 100
O None of the other options
for i = 1:100

randperm(10, S)
end

() randperm(10, 5) * 100

() randperm(5) * 100

Clear my choice



What is the standard error of the estimate S/, for the regression line of the points (1, 8) (2, 8.25) (3,7.9) (4, 8.4) and (5, 8.3)?
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O 0.2652
O 0.2477
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t = tiledlayout (z?)

nexttile

DM(X,' yz: 'G-- s )

nexttile({1 2]) ¢

plot{x, y1, ‘r-.")

nexttile([2 1]) ¢

nexttile(f2 1]) ¢

plot(x, y3, "b')
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Time left 0:18:10




|

IR

-.‘ Irl AL)

I | * i,y‘:'.."?t!.!‘f::l‘,“ I
Jﬂ “1 ]IPJII a” ” (i
H;. "‘Y

n"w"l i

'm Qne of the other options




®




Accurate, precise

Not accurate, not precise

Clear my choice | gkl
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